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a′1 + a′2 + · · · + a′n
b′1 + b′2 + · · · + b′n

≥ k

=

(a′1 + a′2 + · · · + a′n) ≥ k(b′1 + b′2 + · · · + b′n)

(a′1 − kb′1) + (a′2 − kb′2) + · · · + (a′n − kb′n) ≥ 0

±(a′i − kb′i )���§¦������"
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NTTH = A + BH + BTH
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0.125N = A + 0.75B
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a =

R∑
i=L

(xi − x̄)(yi − ȳ)

R∑
i=L

(xi − x̄)2

=

R∑
i=L

xiyi − x̄
R∑
i=L

yi − ȳ
R∑
i=L

xi + (R − L + 1)x̄ ȳ

R∑
i=L

x2i − 2x̄
R∑
i=L

xi + (R − L + 1)x̄2

=

(R − L + 1)
R∑
i=L

xiyi −
R∑
i=L

xi
R∑
i=L

yi

(R − L + 1)
R∑
i=L

x2i − (
R∑
i=L

xi )2
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∑
(xi + S)(yi + T ) =

∑
xiyi + Syi + Txi + ST )

=
∑

xiyi + S
∑

yi + T
∑

xi + ST
∑

1

∑
(xi + S)2 =

∑
x2i + 2Sxi + S2)

=
∑

x2i + 2S
∑

xi + S2
∑

1
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